Snowman

Finally the time of the year has come where children can build snowmen. The children have
collected some snow and ask you how big the snowman is going to be.

Assume that the snowman will consist of three spheres stacked on top of each other. The lower
two spheres are of equal size, the smaller sphere (used for the head) will have a radius of 25
percent of the radius of the larger spheres.

Input

The first line of the input contains a number t < 100, which indicates the number of test cases to
follow. Each test case consists of a line with one integer a < 500000, the amount of snow in cm®.

Output

For each test case, print a line with the height of the snowman in cm. Round this number down to
the next smaller integer.

Example

Input:
2

100
500000

Output:
10
175
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